I NO.10

(2)
10.1. R a,b R
I = (a,b) (R ) d
(d) d ab
(1)d  a,b ( a = dd',b = dif
a,beRr )
@) de€R ab d d
10.2. a  Z[V—1] o/
2 ( peZ
ik plea. p « )
10.3. R
(1) R = 7;100010, 10124
(2) R=C[X]|; X0 —1,X12 1
10.1. Z[v/—1] 3+ 4v/—1, 15
|15| =15 > 5 = |3+ 4/ —1] 15 3+4v-1
15 9—-12y/-1
= =18—-24v-1
3+4v-1 D
2—-2v-1.
10— (3+4vV=1)(2—2V—1) = 1 — 2¢/—1
15 3+ 4v-1 1 —-2y-1.
3+4v-1 1-2y-1 1—-2y-1.
10.4. Z[y/—1]

(1) 124 36y/—1, 5+ 13y/—1
(2) 74 8v/—1,226

10.5. Z[v/—2]
(1) 24 3v/=2, 11 +22¢/=2
(2) 5+ 3v/—2,129

10.6. Q[X]/(X2%+1)
X?4+2X"+3X +2
10.7. Q[X]/(X — 1) X100
1
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10.8. Q[X]/(X?-2) aX +b (a,b € Q, (a,b) # (0,0))

( )

10.9. Q[X]/(X2%2—1) aX +b (a,b€Q, (a,b) # (0,0))
( )

10.10. Z[X]/(X?% - 5) (X +1)3

10.11. (1) 10 123456789(10) = 1 x 10® +2 x 10" + 3 x
10 4+4 x10°+5x 104+ 6 x 10° +7x 102+ 8 x 10' +9 9

(2) 7 135246(7) = 1 X TP +3 X T4+ 5 x TP+ 2 X T2 +4 x 7+6
6
(3) 16

147ad258be369cf(16)
(=1-16" +4-16" +7-16"2 +10- 16" + 13- 16" +2-16° + 5 - 16
4+8-16" +11-16°+14-16° +3-16* +6- 16> +9-16% + 12 - 16 + 15)

15 (a=10,b=11,c=12,d=13,e=14,f=15;
147ad258be369cf(16) 147ad258be369cth
0x147ad258be369cf
(4) X4+ 3X54+7X2+8 X -1



